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M = 0 & AF Y &H A M
2009 & 2 0fl A LBES| |
M D4E
M D SMS S
Che: FUMSHOIMY XA (H:H&)
- _ _ HNE
SH-EFHHA(FA) - NIRAE - BES 01l A+oH @;OH Hws2
83 712,414 621,905 90,509
DESAE A 430,000 340,000 90,000
FOMEHOIHA =X 430,000 340,000 90,000
FOI=R HOYAS 430,000 340,000 90,000
401 AEHIZ=20Y] 430,000 340,000 90,000
01 Al&H| 430,000 340,000 90,000
OF=& . HoAAMY 430,000
OF0I=J At 100,000
OF0IAoAtS 300,000
ORI+ s2EE ¢ 30,000
IEZAHHETXE2Y 167,045 161,426 5,619
MWRs S#FxH 25,595 19,976 5,619
EHAb2tel 21,368 18,771 2,597
101 QI 24H| 3,214 3,137 77
10 JI2ZHHZ2ENSES 3,214 3,137 7
OFANEIFEA JI2HH 22X 2182
30,9003 x2H x52 3,214
201 B2 18,154 15,634 2,520
02 =229 18, 154 15,634 2,520
oH =l 1,560& *25 4 *70L =4 CH 10,920
OA&EHBIS XL 2,304
OFA 2,4703 *800m’ 1,976
O&1n 1,687& *194m’ 328
O Xt & Ery| 4,930
OsEx 2,325,000 = 1CH 2,325
OstExt 2,605,000 *1CH 2,605
AJIX = etd el 4,227 1,205 3.022
101 el | 927 905 22
10 JIZHH2Z2ASE=+ 927 905 22
OAIJIXIZ1DE HH| JIZHM 22X o182
30,900 x2H 15 927
206 M=l 3,300 300 3,000
01 M=Z4l 3,300 300 3,000
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SH: DS
ZE: BF2IH|
cHel: |2 FH(DAS) (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ollesse3 3,000
OFEANEI = 7,000
OHBt=ER23 600
ORERZ 7,500
O xdEAE 150
Oxn=2s = 364
OJ|E} 80
OAlI & &HI S X4l 4,600
oA 100,000& *23| 200
O= A 200,000%23] *3CH 1,200
Ol 2| 100,000& *23| 200
OJ|EFAHHI 3,000,000& 3,000
(0:0s] 55,500 59,940 N4 ,440
202 OiHl 55,500 59,940 N4 440
01 =2ZWoid] 55,500 59,940 N4 440
O=2LHAH I 185,000 »25H x 12& 55,500
AR S B 4,000 4,000 0
405 RAHAHF SHI 4,000 4,000 0
01 AANLEEFSHI 4,000 4,000 0
ODIAEY FAD| 4,000,000 * 14! 4,000
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S A
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|

&2l J1=23 A Chel & &
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
OdoIM=ZelH EH(Ed) ¢
120, 000& *23| *5CH 1,200
OdaMoely 23 ¢ 60,000& *23] 120
O=AsX 7 128,000& = 12& 1,536
OAL&IOISHX] & 24,000 = 12& 288
oolsdl el #¢ 25,000& =103l 250
O= &l 210,000 =114 2,310
OAMSRI12] *Xlb| 1,004
oHA RIX| 100,000 = 1CH 100
O= Al FXIb] 300,000 =2CH 600
OInZgH sAXYl 34,0003 =6CH 204
Ool3I| sXbl 100,000 *1CH 100
02 =229l 7,930 6,737 1,193
Os3=YLHA 7,930
OJ12z=e3 1,320
OFAMN =ER23 25,000& «12& 300
OFA #II23 350,000& x12& 4,200
O=Xga &8Je3 25,000 x12& 300
OXsiEsgs 350,000 = 1CH 350
OREZ 100,000& = 12& 1,200
O&A HIIHHEEH 80,000& *23] 160
O=X3g& sZi 50,0003 23| 100
(1] 24,420 26,640 A2,220
202 OiHl 24,420 26,640 N2,220
01 =WHbI 24,420 26,640 N2,220
O=LHA bl 185,000 * 11+ 12& 24,420
A& S| 2,500 2,000 500
405 &SI 2,500 2,000 500
01 XL EEFHSHI 2,500 2,000 500
Oz=0loIdgolMI| (& e
2,500,000 *1CH 2,500




A o
R ALY ZHI
e MEHHO| A =X (S :H&)
- _ _ HNE
- B (FAH) - MRAY - BES algel @;OH Hws2
ot 351,794 319,878 31,916
ot A A HI 200,000 170,000 30,000
SHO|MHYFX 200,000 170,000 30,000
=& HoAIH 200,000 170,000 30,000
401 AEHIZ=20Y] 200,000 170,000 30,000
A& H| 200,000 170,000 30,000
OFRI=AY 50,000
OF0IAHOIAIH 150,000
ot HAHIXZH 97,333 95,841 1,492
Xzel 44,533 43,041 1,492
2te| IR ALY 3,214 3,138 76
101 el H] 3,214 3,138 76
10 JI2ZHZ2ENsEES 3,214 3,138 76
O HMIUSIL=KZ HI|HA 3,214
O A HIIE8A o2
30,9003 1% »52 1,607
O otd=R2 FI|Ea o2y
30,900 1 x52 1,607
HALE = 30,000 30,000 0
401 AEBIL20iY] 30,000 30,000 0
Al &l 30,000 30,000 0
OFAL ¥ 324 Y 2122 25,000
Oot=X2H 29 HAIN &X
5,000,000€ = 1CH 5,000
HAM2F2e 11,319 9,903 1,416
201 Le23| 11,319 9,903 1,416
S3522 4l 11,319 9,903 1,416
© A=l 3,750
O HEAI HZH| 1,500& *2,500 £ 3,750
O© A&ZEHIRX L 4,964
O ™ HAsAX 2,470 »bb2m’ 1,364
O 2Xlg& 2X 2,4703 *804 m' 1,986
O #1%X 1,667 *117m’ 196
O HARX 100, 000& *2CH 23] 400
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SN Ghee
g2y
el D122 (st ) (el =
SN EB -GS - MBAY - BES 0 & 24 e HlE2
201 ZEr=3H] 15,821 17,297 A1,476
01 AtS2cld] 9,920 9,660 260
© Zet+=EH| 7,400
O Jle+=Ed| 360
O EAIEHZRY 2,500
O SAEXFY 2,560
O gy Eld+¢ 1,980
O =gl 210,000& *12& 2,520
02 22944 5,901 7,637 21,736
0 =322 % HMA 5,901
OJl=edses 64
O EAEII=S 300,000& 123 3,600
O =Xz& &)= 100,000& «12& 1,200
O Z3txz=z= 150,000& *13] 150
O HEeEg= 211
O sE= 596
O EMEIIHEEAH 80,000& x12 80
o4 I 26,640 26,640 0
202 Od4Hl 26,640 26,640 0
01 =LHAHI 26,640 26,640 0
© =UWAHI 185,000& «12H « 123 26,640
K&k SHI 2,400 1,100 1,300
405 XtobESHI 2,400 1,100 1,300
01 KA ESESH=HI 2,400 1,100 1,300
OuHII7¢ 400,000 = 1CH 400
Ootd =Kl HLtgI| 2 2,000,000& = 1CH 2,000




fAM: ool

2 o0IHAIE B HI
el FUIMEHOAEEX (el @)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
o0l ™ 353,107 326,955 26,152
OFOIH AL Z HI 200,000 170,000 30,000
TR MEHOIHE F A 200,000 170,000 30,000
FU=R A 200,000 170,000 30,000
401 Al &BIZ20HYI 200,000 170,000 30,000
01 Al&H| 200,000 170,000 30,000
OFCI=JAS 50,000
OF0UAHOIAS 150,000
SHOIHYHMAZ XA 99,324 103,386 A4,062
WES S#EXH 33,754 37,816 A4,062
EAb2tel 29,447 34,659 AN5,212
101 ol | 1,607 1,569 38
10 JIZtHZ2Z2NSES 1,607 1,569 38
OEFAMEIIEACRY 30,9003 1% »52 1,607
201 L3 7,840 7,090 750
02 =329l 7,840 7,090 750
OFAtS Xl 2tel 5,285
OF A= X 2,470 544 mt 1,344
OEMELSRXA 1,687 «83m* 141
Od =l 1,500 *25 £ 100 3,750
O Xt & Bt 2,605,000 = 1CH 2,605
401 Al &HIZ20HYI 20,000 20,000 0
01 A&l 20,000 20,000 0
O AHAIA OIS A HI S A 20,000,000& * 14 20,000
S 3 azel 4,007 2,857 1,150
101 el t| 1,607 1,569 38
10 JI2ZHH22SEs 1,607 1,569 38
o= zzeezy 30,9003 »1H 52 1,607
201 Letd| 2,400 1,288 1,112
02 2=2Z4l 2,400 1,288 1,112
O=Xg 2R 2] 2,400
OosXsadI3 200,000 * 123 2,400
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SN

R = 24|
che: HI(Gt01e) HE
B R(B) - MEAY - BES sk e
At 22l | 9,756 10,892 ,136
Lot=ZHl 6,636
OJlZ2=2H| 4,260,000 4,260
O EN-Y 80,000& »3& 240
O=sAMEX Y 128,000& 123 1,536
OHoIMEEHEHEH(EY)FP
120,000& *53] 600
= 2l 210,000& *12Y 2,520
A& EHI R X Y 600
O= A2l 300,000& 13 300
OmHAI|I =X 2el 100, 000& * 1 CH 100
Osg0u=2JI=X2el 100, 000& *1CH 100
O &JI=el 100,000 * 1 CH 100
23234l 7,787 7,037 750
O3==LHA 7,787
OJl2ssR= 120,000& «12 1,440
OXNsHEE = 600, 000& *1CH 600
OEANHIIRS 300,000& =122 3,600
(OESEN= 110,000& 12 1,320
O&x=EAER 68,900 123 827
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M el
2 Ae|HAIE B
el FOIMEHOBEEX (el @)
CHEB L CRI(E) - NRAY - BAS Ak e 2
369,605 312,156 57,449
jeleslla] 200,000 170,000 30,000
BHOIMHZZFX 200,000 170,000 30,000
=3 . AH2AY 200,000 170,000 30,000
401 AIEHIZL 20| 200,000 170,000 30,000
INE=]=] 200,000 170,000 30,000
OFU=JAY 50,000
OFBIAHOALH 150,000
UHMEXH2H 119,093 87,719 31,374
s#3xd 33,930 18,692 15,238
22| 33,930 18,692 15,238
101 el2iH] 1,607 1,569 38
10 JIZtH2=AsE=+ 1,607 1,569 38
(OF=PNFSPIE=E 30,9003 52 x1H 1,607
201 L3 9,323 7,123 2,200
2234 9,323 7,123 2,200
OFAt2tEI R X 9,323
(@):K=3:] 3,900
OAN& &S 2,818
OXt& gth| 2,605
401 AlEHIZLROY| 23,000 10,000 13,000
A& HI 23,000 10,000 13,000
O A=A 22| 23,000
O2&3194 ESuH 23,000
AFD| & 57,160 57,160 0
ZEs=Ea 57,160 57,160 0
01 gerEazg 57,160 57,160 0
Ss-cl-EeEss 57,160 57,160 0
oolgtEasEs=s 57,160
Oo&E=¢ 55,760
—Jlg=¢ 200,000& *12& x17Z 40,800
—&03 200,000& * 17 x23] 6,800

_13_




od
’J
OF
oJ

o o o |o © (o] © |© o |o Lo o o o |o ()
o (ep) [SPIN Kep] o O Al o o o O
LR R |L S |S o | ol ©| © |©
0 s|e| |- S1E °
| N
Ko
E
=)
o o o |o N~ N~ N~ I~ o | o N~ o o o |lo (@)
B33 |3 88|88 8|3 88|88 5]
<<= c|lg|w|s v I B =
LH 3"
L1
s
2 S |5|E|E8 5 |B|8|88 § = £ & ¢ B |83 8|E|3 8 8 |c|8|8|88 8 8 B
3
<
=3
W ol ] 5 & & & o o
oY al 0 — . g o] ) & i
x g 50 3l L x x
o | o o S W ¥ o o o
o [§ ¢ ) © 8 8 ® 8 ] 8
= |® @ W x S S g < S S
=3 S z g 8 S 3 = 2
. X S S S < < » [Ye) Lo A
sl |® S S > s o 8§ < -
e m al ™ S P -
I |s w
< — ol
. - ol
~ 5 <k A = T T ® D
= Rl iy A | — 0 ROR R R
) Ko U0 8 |2 < K- KE KR KF
= — |ob oo o) Ko = % il _ v ok ok o
3 a0 ﬁ N ) o ro w0 0 = Kk u|u_ 3 & I Al
B Y =T I B T Al m o 5 & H N o|_ oo | o o ’Kldzo 30 &0 30
: O R T R T L = OO = = =R =R Rl oo oy
"l e I I L T I S YR B BV B E TR bl & = x
R0 O =[P R |4|® ~ &8 § O O O |R|lg & |<|= & £ 5|9 = 1
5 C T © A0 © O © o | _ © D 0| o © ©
2 wmlar| |8 o | Ak 2 <A Q|5 30 NSRS I
o+ 3| = = | 3 oH oH
ﬂ W R0

0

_14_




od
’J
oF
oJ

Ol V| WM (o] o | O o o | O |o
Al ©O| © | A [e0) Al | Al O | O 1O
0S| 9 |o 0 NN SIS S
o |~ =]=]= < N 4| <<
n A <[ <« 4| < |«
KIo
E
o
IO N~ o |l © |o o | O lo
28|88 ° 2|23 G
Q=2 < AR T
W 3r
uiled
RIS
Nl NI NN B O O O O I;, I o o WL m;, o wmw |lololoo o ||l o
S|I%8 &§ 8 8 § 3 8 F & &3 8 8 & Q |§9Y ¢ |s8|8|8 8
g|le|s|o o o N © o w6 v - 5 |3Sls |- -
3
<
=
80 ol
— [QN]
v W
oir W iy
X0 = ™
=Y ol o
Lo o
. 9 S
ol o
< @
I+
=z
= o
= of -
@ z M [ ur
oF - o =) = o [ — |®F
e o < al o0 M @l T G
J = < + <+ o= 5 = Tlw =
. W5 z oF WoooF |12 B gl =
= - L W ol ~ o M 5 I ||| X
R0 30 O O O O O O T T B =1
. OH nl_ O |®|o|_ ©
g o) ol & |o J| 2o
o+ all = =

_15_




SN HB G (BH) - MRAY - BES Aro e Hlm= 2
326,531 327,518 A 987
HALS B HI 201,500 171,500 30,000
Dl oI =X 200,000 170,000 30,000
FU=SALAYAY 200,000 170,000 30,000
401 Al &BIZ20HYI 200,000 170,000 30,000
01 A&l 200,000 170,000 30,000
OFCI=JAS 50,000
OF0UAHOIAS 150,000
PNRS=R-FSPNELE=FS] 1,500 1,500 0
XS M2 1,500 1,500 0
203 HRF&H 1,500 1,500 0
03 AIEZAHRFLH| 1,500 1,500 0
QXYL S 30,000& 10 53] 1,500
HUMBHIANRZH 80,669 103,281 A22,612
SLESUN I PNES, 64,320 64,320 0
Ot =24t 64,320 64,320 0
301 YEtEa= 64,320 64,320 0
05 S-c2l-BtEeEss 64,320 64,320 0
O0l&E+¢ 62,320
OJlz=¢ 200,000 19 = 12& 45,600
O&z3 200,000 *19Y x23] 7,600
Ozl 20,0003 19 «23| *12& 9,120
OBt &=l 50,000& 40 2,000
Rt B2#EXH 16,349 38,961 N22,612
EAb2tel 16,049 38,661 A22,612
101 ol t| 1,607 1,569 38
10 JIZtH2ZNSES 1,607 1,569 38
(OF=PNFSPIE=E 30,9003 1% x52 1,607
201 Let3| 14,442 7,092 7,350
01 At 2eldl 3,240 0 3,240
oget=EHl 3,240
02 232934l 11,202 7,092 4,110
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SA
X XH .
(=

chel:

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
©ftak=4:] 1,500& *26 £ *100 3,900
O Xt & EHh| 2,605,000 *1CH 2,605
o=3g= % HA 4,697
22 2348 =4 300 300 0
206 M=l 300 300 0
01 Mz 300 300 0
0BUXH B2, =9 79 300
HE2HFHI 44,362 52,737 A8,375
Jl=2ZHI(totH) 34,762 43,737 AB,975
22 A 10,342 17,097 A6, 755
201 er2oty| 10,342 17,007 £6,755
01 AtSR2teldl 7,555 9,580 A2,025
©Jl2+EHl 3,925
OJI2At2d| 330
Odbte==g 2,530
Oarnlsd 440
O M7l 240
O3+l 385
O= &l 210,000 =11 2,310
OJI=2EER23 120,000& * 11 1,320
02 =294l 2,787 7,517 A4,730
OAI&&HI= XYl 2,787
048l 24,420 26,640 A2,220
202 O4dl 24,420 26,640 A2,220
01 =Wol 24,420 26,640 AN2,220
O=WaAbl 185,000 *11H * 123 24,420
A2 (CHOtH) 9,600 9,000 600
23| 9,600 9,000 600
203 YRFL&Y| 9,600 9,000 600
01 JI22dPRF=& 6,600 6,000 600
OJ|22HHRFL| 550,000& »12& 6,600
04 BEM2ITRFLEH 3,000 3,000 0
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SN Y
M JEHAMB S|
el FUMEHOREEX ol m )
M-S (3) - HRAY - BES Aro e =2
I8 373,405 349,528 23,877
LA B 220,000 200,000 20,000
FUMEHOHY S A 220,000 200,000 20,000
FOU=R & HOYAS 220,000 200,000 20,000
401 AIEHIZL 20| 220,000 200,000 20,000
01 A&l 220,000 200,000 20,000
OFU=JAY 50,000
OFBIAHOALH 150,000
Odsits seEE+2 4| 20,000
& SHHHZAN2H 102,863 100,925 1,938
gt 34 43,783 41,845 1,938
Ab2te] 43,483 41,545 1,938
101 Q12| 1,607 1,569 38
10 JIZAH22ANASES 1,607 1,569 38
(OF=PNFPIP=EN 30,9003 1«52 1,607
201 BH2EH] 7,876 6,976 900
01 AtER2teldl 1,371 1,371 0
OF=FNEIN| 2,470 555 m 1,371
02 ==29gtl 6,505 5,605 900
OARaEHE=Z 1,500 %25 £ x104L 3,900
O Xt & EHh| 2,605,000& = 1CH 2,605
401 Al&HIZ =204 30,000 28,000 2,000
01 Al&HI 30,000 28,000 2,000
OQHEA i - E+3 At 30,000,000 14! 30,000
405 XHAHFE S| 4,000 5,000 A 1,000
01 XA ESEFH=HI 4,000 5,000 21,000
Q= AtJ| 4,000,000& =14 4,000
S22 X4 300 300 0
206 M=l 300 300 0
01 M=l 300 300 0
OZZXH Hzg, 47 300, 000& 1Al 300
Ol BHEALD| & & 53,580 53,580 0
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SN g
ZE: BHSIH|
chel: |22 (FE D) LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O=AMESX7 128,000 * 128 1,536
OdioIMdEZIHIIEHEH(EE)72 Y
120,000& x4 & 480
O2MNEH(EH)Y 300, 000& *x23| 600
OARIDIZETH 120,000 43| 480
©OF=1=l 210,000& * 11 2,310
02 =229 7,317 7,617
o323 6,017
oJlesse=3 1,220
OHEI|otE & AL 80,000& *13| 80
OFAMNNIZ 290,000& x12& 3,480
OXsiEg= 211,000& 13 21
O8I ELHE 150,000& 13| 150
Og9sEisde=srHa 300, 000& * 14 300
oy d| 48,000& x 128 576
OA&EEHIRX 1,300
QA2 100,000 * 14l 100
OZ2A| =2l 300, 000& *x23] 600
(@LIE=PIE=T] 100,000& *13] 100
OEZIHIIz=2el 34,000& *53| 170
Od. a2l 230,000& 13 230
OSEWFIIAEEHI R 100,000& *13] 100
1] 24,420 24,420
202 O4Hl 24,420 24,420
01 =ZWoid] 24,420 24,420
O=2LA I 24,420
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2M: @2H
Mz HQTHAIHAY|
el FOIMEHOBEEX (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
™ 339,392 378,163 N38,771
AP HAS B I 220,000 170,000 50,000
FOIMETHO|H N FXI 220,000 170,000 50,000
FO=3 - 249 A 220,000 170,000 50,000
401 AIEZHIZLE204Y] 220,000 170,000 50,000
01 Al&H| 220,000 170,000 50,000
OFU=JAAMY 50,000
OF0IAHO A 150,000
O3MXNF s 20,000
AW UMHY XX 2F 67,780 154,626 N\86,846
HRst stExH 15,680 102,526 N 86,846
H A2 15,680 102,526 N 86,846
101 1A H| 1,607 1,569 38
10 JIZHZ22XNsSES 1,607 1,569 38
OFMEIIHA 30,900& 1«52 1,607
201 2Er2IH| 8,773 7,657 1,116
02 =329l 8,773 7,657 1,116
O =H| 4,836
OAMEBRA Y =Xg 2 4,836
OA & &EHIR X b| 1,332
O MEX 2,4703 *421m* 1,040
OIKAX 1,687&*173m 292
OXtsHety| 2,605
OLs XS 2,605,000 ~1CH 2,605
206 M= 300 300 0
01 =4l 300 300 0
OZZJtRI| N7 300
401 AlEHIL204b] 5,000 90,000 A 85,000
01 Al&b| 5,000 90,000 285,000
O HAHAI HIE&EH & HE 2= 5,000
Ol BF&LAFD| &I & 50,600 50,600 0
Ol &S24t 50,600 50,600 0
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SN Yo
HE: #H 22|
Sl Il A (Y2) (St5: &8 2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
01| 24,420 26,640 A2,220
202 o1t 24,420 26,640 A2,220
01 =Lioit] 24,420 26,640 A2,220
CEITE 85,0008 112+ 122 24,420
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SN e

S O AL FHI
el FUMEHOAEEX (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
H&E™ 401,862 326,214 75,648
JHEEHASE B 254,800 170,000 84,800
FOIMBHOME XX 254,800 170,000 84,800
FOI=J HOAH 250,000 170,000 80,000
401 AIEZHIZLE204Y] 250,000 170,000 80,000
01 Al&H| 250,000 170,000 80,000
O FO=JAH 50,000
O FOUAHIAIA 150,000
O SEAI HZ2S3 ZHEAMY 50,000
Fol= T ME2R 4,800 0 4,800
201 B2 A 4,800 0 4,800
01 AtR22id] 600 0 600
OF0U=SEIHHSYE Jl2+EH|
50,000& «12& 600
02 32494l 4,200 0 4,200
02222 2LMA 4,200
(@rSPIETE=; 200,000& =128 2,400
OEQIAIAEIZAS 100,000 *12& 1,200
O&F IR = 50,000& 128 600
HEHUYSAHH IR 2 95,394 103,038 AT,644
HRst stExYH 40,514 48,158 NT,644
H A2 38,607 46,289 NT,682
101 oA H| 1,607 1,569 38
10 JI2ZtHIZ2ENSE S 1,607 1,569 38
(OFSPNEPSIIP=EN 30,900& 1«52 1,607
201 B2 7,000 7,720 NT720
02 2224t 7,000 7,720 AT720
OAMFaAZHI 1,600 *25+75 3,000
O& Ar=7 Xl HI 2,470 *436m 1,077
(©E=gnE=Y\}|| 1,6873 =188’ 318
OXt&F & EtH| 2,605,000 = 1CH 2,605
401 AIEZHIZLE204H] 30,000 30,000 0
01 Al&H] 30,000 30,000 0
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SA OHEE
B #HE2HAY|

el JI23HI(HEH)

SNBSS - MEAY - BES 0l &k o4 e bz 2
2 et | 17,648 17,536 112
201 Lt 17,648 17,536 112
01 AtS2eld] 9,810 9,660 150
OSH2IIIE+EHI 7,500
OF=1=d:] 210,000 *11H 2,310
02 2323l 7,838 7,876 A 38
O=223LHMA 6,138
OJl=23e3 120,000& «12H 1,440
OEMEIIRS 290,000& x12& 3,480
OstEAFE=FNE 150,000& *13] 150
OMI|ItdEH+=2 80,000& x 13l 80
OXNsHEE=Z 211,000& *13] 211
OoRER= 64,7002 128 777
OAI & EHIS XL 1,700
OBASX 100, 000& x23] 200
OsgulHIIKX 100,000 =2CH 200
OZEEIRX 50,0003 *6CH 300
O=AMIISXK 300, 000& 23] 600
(@)= 2=F-WIE=IN 100, 000& =3 CH 300
Oel&Jl2l 100, 000& *1CH 100
o4 dl 24,420 26,640 A2,220
202 O4Hl 24,420 26,640 A2,220
01 =LA bI 24,420 26,640 N2,220
O=Waobl 185,000& «11H x123 24,420
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SA: PO
HE: POOIA R Y|
9l FOIMEHO ALY (B9l &)
SA BB H(BH) - MBAY - B2 O A+ 24 gggi; HRs2
2ored 338,280 320,805 17,475
POIRIAN A ] 210,000 190,000 20,000
ZOIME O ALY 210,000 190,000 20,000
ZOIE AU ALY 210,000 190,000 20,000
401 ASHILLHY 210,000 190,000 20,000
01 A& 210,000 190,000 20,000
OFUSAAY 50,000
OF A 150,000
OFBIE 2| 10,000
TOIHANBE TN R Y 79,368 78,493 875
HAS KB 30,698 29,823 875
HALRIRIOI R AL 1,607 1,569 38
101 Q12| 1,607 1,569 38
10 JRAHN2ENER S 1,607 1,569 38
OF ALRI2I 01 AL 30,9008 *522 1,607
AR 20,000 20,000 0
401 ANSHLLHY 20,000 20,000 0
01 A& 20,000 20,000 0
O3t FA(25) 24 20,000
e JNEE] 9,091 8,254 837
201 Y2yl 9,091 8,254 837
02 zzegl 9,091 8,254 837
CEEL] 1,5002 %2,600L 3,900
CNEETIESL] 2,586
ORHE | 2,605
Ol 8 & AP 71 &t 46,870 46,870 0
EEETERS 46,870 46,870 0
301 YstPAS 46,870 46,870 0
05 -0l IFESBAZ 46,870 46,870 0
O0IZ4g 45,920
OJlEsg 200,0002 1484 x 122 33,600
O&013 20000021 * 142 x22 5,600
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2AM: 3FH
2 | 3tHAISE B I
el FOIMEHOAEEX (el @)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
23t 353,789 324,778 29,011
2l stHALE Z HI 200,000 170,000 30,000
TR MEHOIHE F A 200,000 170,000 30,000
FU=SALAYAY 200,000 170,000 30,000
401 Al &BIZ20HYI 200,000 170,000 30,000
01 Al&H| 200,000 170,000 30,000
OFCI=JAS 50,000
OF0UAHOIAS 150,000
SpHILHE X2 104,544 92,085 12,459
MR H 47,764 35,305 12,459
FAIZ e IR AL 3,214 3,138 76
101 ol | 3,214 3,138 76
10 JIZtHZ2Z2NSES 3,214 3,138 76
OFAMEIEA 30,9003 1% »52 1,607
OZEg=RX3a= 22| 30,9003 »1H 52 1,607
ZAr2el 20,336 7,699 12,637
201 Let3| 20,336 7,699 12,637
01 AtR2teltl 3,780 0 3,780
oL et=EH| 3,780
Ott2IAtE =2l 270,000& »14H 3,780
02 =229l 16,556 7,699 8,857
Od = dl 4,836
OARa -] 1,500 *26 £ 100 3,900
OSsX 32 e 1,500 *26 £ *24 936
OF A= AIHI 1,374
OH AL X 2,470 556 m 1,374
O Xt & Bt 2,605
(O R=PE= 2= PN]=] 2,605,000 *1CH 2,605
Oz3R= % AA 7,741
OHRINY B33 7,74
—&EAMEDZ 5,000
—=X32EI= 600
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